Algebra 1 (CP) Name KE\}'

Final Exam Review #1 (Chapters 6-8) Date Period

Solve and Check each equation. There are 2 "No Soutions'"'.
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Chapter 6 -

Draw a graph for each inequality.
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Write an inequality for each graph.
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Solve each inequality AND GRAPH its solution.
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Solve each inequality and graph its solution.
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Solve each compound inequality and graph its solution. (6pts each)
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Chapter 7

Solve each system by graphing. Check!
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Solve each system by substitution. Check!
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Chapter 8
Simplify. Your answer should contain only positive exponents.
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